Assembly Instructions For The Hickory Swivel Barchair

T

Step 1

Step 2

Step 3

Step 4

Step 5

ded: Parts List: Hardware:
7/16” Wrench ir Seat (1) 1/4™ x 1-3/4” Bolts (8)

Chair Base (1) 1/4” Flange Nuts (4)
Right Arm (1) Allen Wrench (1)
Left Arm (1)

Lay out and identify all parts and pieces.

Place the chair base on a level surface. Take the chair seat and place on top of the
chair base. Align the slots in the swivel on the bottom of the chair seat with the
predrilled holes on the top of the chair base. Take four 1-3/4” bolts and put through

the holes from the bottom of the base with the ends of the bolts sticking up between
the swivel.

Take the four flange nuts and put them on the ends of the bolts. Hold the nuts with

your fingers or a 7/16™ wrench and tighten by turning the head of the bolts with the
allen wrench provided

Take a chair arm and two 1-3/4” bolts. Align the predrilled hole on the back of the
arm with the threaded insert on the side of the chair back. Insert a bolt and turn into
the insert with the allen wrench provided and tighten.

Now align the predrilled hole on the bottom of the arm brace with the threaded
insert on the side of the chair seat. Insert a bolt and turn into the insert with the allen
wrench and tighten. Fasten the other arm the same way.




